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END SEMESTER/RETEST EXAMINA'{‘IQﬁ:ZOI9

Semester : 3rd “ ot
Subject Code : '{Sg s
MATHEMATlcg,

‘

Time — Three hours

The figures in the margin indicate full marks
for the questions.

Instructions :
‘1. Questions on PART-A are compulsory.

2. Answer any five questions from PART-B.

PART - A
Marks - 25
1. Fill in the blanks : 1x10=10

(a) A differential equation is formed wnth
co-efficients.
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(b) The order of a linear differential equation is

(c) The degree of the differential equation
[D*+D+1]y = e* is _

d) Integrati :
(d) Integrating factor of meL_..mwuxm is

(e) The conditi
- ition for Mdx+Ndy = 0 to be exact 2

Mimeoe

(f) The Clairaut’s equation is of the form ™ #

W @
(g) The Particular Integral ~4
_ f [D>— -
ot s . gral of [D mc+o,%
(h) The complementary  function //,,&. ;
d’y . dy LR
PR . |

(1) The median of the observations: 32, 28, 31
__m, 10, 33, 38, 52, 43, 40 is A

() The sample space in the toss of a dice is
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2. Write true or false:

R
G

e
.

1x10=10

. ! _ . Qm# 2
(a) The physicai problem related .Smm: +0x=0

is called simple harmonic motion.

() fxy) is the partial derivative of z = f(X,y)
~ with respect to y .

(c) y=Acosx+B sin x is a solution of the
d?y

differential equation Mx.m +y=0

d) IfAisa singular matrix, then |A]=0.

2 '(e) A Linear Differential Equation reducible to
homogeneous form is called an Exact

Equation.

f) The feasible region contains the solution of
LPP. 3

(g) Diagrammatic representation of bivariate data
is called Scatter Diagrams.

(h) Variance is related to mean deviation.

(i) Only a square Em&x can have Adjoint of
it.

() If there is negative correlation between two
variables then they are said to be independent.
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3. Choose the correct answer : 1x5=5 (e) The graphs of the equation xtan x=1 are

(a) The cumulative frequency is 3@:_:& to (i) curves
calculate
_ _ (ii) straight lines
(i) Mean (i) Median
: : LAl (iii) both curve and m#ﬂm_: line .
(iii) Mode (iv) None of these

_ (iv) None of the above.
(b) The number of independent variables in a

partial differential equation is, _ PART-B
(i) one - - (ii) more than one Marks — 45
(iii) more than two A_S None of these 7 // 4. Answer the following : 3x3=9
1 T 4 oz
(c) The solution of oomxu.mu, omxAm. (a) Find Wl and @” z=x" +y*
a) z (i) r (b) Form a differential nncmm_cu“
’ £ y2 =Ax?+Bx+C
(iii) W Q&M (c) Find the first order um_.:& derivative of
. ax? + 2hxy + by?
(d) Two points belonging to the solution set of
2x-3y<l are, 5. Solve the following : 3x3=9-

(D) (2,0),3,0) (i) (0,2),(1,0)

@ (x*>+x+Ddx+(y%+y+1)dy =0
(iii) (0,0),(3,1) (iv) (0,0),(2,1)
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_ : 8. Answer the following : 6+3=9

(b) MMH_.M+8?N B
| dx x X (a) Find the Mean and Mode from the following

3y . data :
| (©) (x+y+1)dx =(2x+2y+1)dy i -
_ _ Px LA, Al Class :| 0-10 | 10-20 | 20-30 3040
. : xX3= — -

i - 6. Answer the following : . Freq. : 3 s 7 9

LT mw+x|+_w|_ | Class :[40-50 [ 50-60 | 60-70

x -
il o . | Freq. :| 4 3 4

(b) Draw the graph of y =sinx, —T<X<T

Answer the following : _ 5+4=9
(c) Y=PX . (@) Find the Quartile Deviation of the following
P distribution :

- 7. Solve the following :

Class :| 0-10 | 10-20 | 20-30 3040 |

: _ _ . Freq 2] 15 ] 20 2 2
@) p¥5p46=0 . _ | Freq | 5 e
. Class : 40-50 | 50-60 | 60-70 70-80 |
' N i .
| (b) llm.m_m.wm.:mw. 0 : | Freq : 12 31 i 1 me

(b) Solve graphically :
© (D?-4)y=e* _

T
cosx=2x, 0<x<—>

]
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10. Answer the following : 5+4=9

i34
(a) Find the Mean and Standard Deviation of the (b) Find the inverse of 1.1 .4
| following data : 0 2-1
_ e 2.5 3.0 3.5 (c) Solve the simultaneous linear equations :
_ iR s 38 65 92 > 3x-y+2z+2=0; x+2y+z-1=0;
£ .: - 40 {45 |50 Ox+3y+22-4=0.
I 70 40 10 :
12. Answer the following : 4+5=9
(b) Calculate the co-efficient of correlation for the Shiue 4 -
following heights (in inches) of fathers Ea (@) .o Ve x4 x2 Lyl
their sons : /@ Maximise : ‘z = 120x + 80y
;3 65| 66 67 m:_aoon to constraints : 2x L o3
¥ e el Bkl S0 .\x+mwAuc x>0;y > 0.
| e . e = e 1 e
” ¥ 4 J2F 72 69
11. Answer the following : 2+3+4=9
_ 130
| . _ -132
_ (a) Find the transpose of
__ 2.9
|
|
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